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IR 𝐸-       د + 𝐹 = 0   

3 -IR 𝑭𝑬 < 𝑬 ≤ 𝟐

    ABCDEFGH      . 

       𝐴𝐵 = 4 ;  𝐴𝐸 = 𝐴D = 8       
              𝐼 = 𝐴 ∗ 𝐹 ; 𝑂 = 𝐹 ∗ 𝐷 

1-   𝐴𝐹. 

2-   AD  ABE  A. 

3- DAF  𝐴. 

4-  𝑂𝐼  AD . 

   𝑂𝐼  ABE 

I- (O , I , J )   

 O

 (O J)

  MN (O J).

 (O , I , J )  

 𝐴(2  , 𝟏)𝐵(5  , 𝟏 ) 𝐶(2  , 𝟓) 

      𝐀𝐁  𝑶𝑰   𝐎𝐉       𝑨𝑪 

  E(2  , 𝟑) E 𝑨𝑪 

  E  𝐀𝐁   𝐁𝑪 F

 𝐅 𝐁𝑪  𝐅

  𝐷 𝐁 E 𝐷

 

 

1-  509634        :        6        ,   15          ,   12 .   

2- 𝟔𝟖 

3-        1 − 4 6 
2

=     1 − 4 6           , 4 6 − 1        , 1 − 2 3    

 𝟗, 𝟓𝟐𝟑𝟖𝟕 

  −4 3  −7 

397 11397 13

 𝑥𝑦𝑥 ≤ 𝑦

 𝑥2y2

   5 − 2 𝑥 −  7  5 − 2 𝑦 −  7

𝑬 = 5𝑥2 − 4𝑭 = 5𝑥2 − 4 5𝑥 + 4

1-  𝑥 = −
2

 5

2- IR 5𝑥 − 2 = 0

 𝐸 𝐹

𝐸       ج + 𝐹  . 
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